Elite Stream Entrance Examination Sample

Paper
To Enter Grade 6



Grade 6 Entrance Exam — Science

Choose the correct answer. Circle A, B, C, or D.

1. The variable that is changed in controlled experiment is called a
a. dependent variable
b. independent variable
c. control variable
d. experimental variable

2. Which is an example of a hypothesis?
a. The ball rolled 5 meters in 20 seconds.
b. The ball is red and made of rubber.
c. The speed of the ball is calculated by dividing distance and time.
d. Ifthe ramp is steeper, then the ball will roll faster.

3. Which part of the flower below is the arrow pointing to?

pistil
petal
stamen
sepal

apoo

4. Which of the following is NOT an effect of soil erosion?

a. reduced air quality
b. water pollution
c. decreased crop yield (hnumber of crops)

d. improved water quality

1 point

1 point

1 point

1 point



5. Which of the following would be considered a positive human influence on other
living creatures?
a. deforestation
b. overusing the Amazon
c. global warming

d. protecting endangered species
1 point



Maths Section 1: Multiple Choice

A calculator may not be used for questions in this part of the exam.

Choose the correct answer. Circle A, B, C or D.

1. Which set of numbers are in order from greatest to least.
A) 74,859,623; 74,759,458; 74,905,140; 73,569,991
B) 74,905,140; 74,859,623; 74,759,458; 73,569,991
C) 73,569,991; 74,759,458; 74,859,623; 74,905,140

D) 74,905,140; 74,759,458; 74,859,623; 73,569,991

1 mark

2. Which of the following is equivalent to 32%
A) Thirty-two hundredths
B) 0.032
C) 0.23

D) Thirty-two tenths

1 mark



3. Which of the following does not represent the number given by the model?

A) -
B) forty tenths
C) 0.4

D) four tenths

1 mark

4. Which of the following symbols make the statement below true?

98.546 [ | 98.654

v Vv

1 mark

5. Hamad collected 5 fils at the recycling plant for each of his 78 cans.

How much money did he collect altogether?

A) AED 0.39
B) AED 3.90
C) AED 3.50

)
D) AED 39.0 1
ark

3



English Section 1: Reading

Read the text and answer the questions 1- 5. Choose A, B or C.

There is one example.

Most students in the UAE have an easy journey to school. They travel by car or
bus. In some countries, students travel by train or on foot. However, in some
places students have dangerous journeys to school.

In India some students have to walk through snow and ice to get to school.
There are no roads or pavements, only an icy river to walk on that they could
fallinto if the ice melted. It is a good thing that these students only have to
make the journey once a year. This is because they live at their school and
only go home for the holidays. Their journey can take more than two days.

Some students in China have a different journey to school. The students live in
a village at the boftom of a mountain. Every day they have to walk up the
mountain, along a 30-centimeter-wide path, with nothing to hold on to. The
school only has one teacher. He started teaching there when he was 18
years old and he has taught at the school for 26 years. It takes the students
nearly five hours to get to school.

A few students in Indonesia take about an hour to get to school. They have
to walk across a tightrope to get to school and when they return home in the
afternoon. A fightrope is made from two ropes, one rope is to hold on with
your hands, the other is to walk along. This tightrope is ten meters above a
river.




Example: How do a lot of students in the UAE travel to school?

bus and car
(B) bus and train
(C) bus and on foot

1. What do some Indian students have to walk on to fravel to school?

(A) ariver
(B) aroad
(C) a pavement

2. Which students live at their school?

(A) students from Indonesia
(B) students from China
(C) students from India

3. How long has the teacher taught at the school in China?g

(A) 18 years
(B) 26 years
(C) 30 years
4. It takes some Indonesian students to get to school.
(A) two days
(B) five hours
(C) one hour

5. Whatis the best title for the text?

(A) The Journey to School
(B) A Dangerous School
(C) My Life at School
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